INSTALLATION GUIDE PRIUS 4 (2015-PRESENT)

EXIENDMYSEAT o

MORE LEG-ROOM, MORE COMFORT, BETTER DRIVING

Toyota Prius GEN 4
Driver & Passenger Side
Extender Guide



INSTALLATION GUIDE PRIUS 4 (2015-PRESENT)

Thank you for ordering brackets from ExtendMySeat, the automotive
solution for more leg-room, more comfort and better driving.

Inventory in Box:

2- ExtendMySeat brackets

2- M10 x 1.25” Flat Head Screws
4- 3/8 x 1” Flat Head Screws

2- 3.8” x %4” Black Hex Screws

What you will need for assembly:

1- Socket wrench
1- Metric 14 socket
1- Phillips Head Screwdriver

Step 1- Remove the Black ExtendMySeat brackets from the package and locate the black
bolts provided.

Step 2- Use a socket wrench to remove the two factory bolts in the front seat then slide
your seat forward.

Step 3 - Move to the backseat and remove the two plastic guards then locate and
remove the two rear factory bolts.

Step 4- Move your seat all the way back to lift the front of your seat up so you can slide
the brackets under the seat.

Step 5- Lay down the ExtendMySeat brackets down on the floorboard. The brackets
have an | and O burned into the middle of the bracket indicating Inner or Outer location.
The small 90 degree bends face the rear of the car.

Step 6- Starting in Front, finger tighten the brackets to the floorboard using the factory
bolts. This should secure the brackets to the floorboard.

Step 7- Slide the seat all the way forward and go to the back seat to secure the
remaining two factory “feet” with the two larger M10 x 1.25” Flat Head Silver Bolts.

Step 8- Go back to the front seat and align the factory seat with the new ExtendMySeat
hole locations. Slightly tighten the two front seat “feet” into the new ExtendMySeat
hole locations using the shorter silver 3/8” x 1” ExtendMySeat bolts.

Step 9- Go to the rear and align the factory seat with the new ExtendMySeat hole



INSTALLATION GUIDE PRIUS 4 (2015-PRESENT)

locations. Slightly tighten the two rear seat “feet” into the new ExtendMySeat hole
locations using the shorter silver 3/8” x 1” ExtendMySeat bolts.

Step 9- Complete the installation by securing the eight bolts. Check to make sure all
eight bolts are tight and secure.

Step 10- Re-install 2 factory plastic guards

Step 11 - Test seat by sliding it back and forth. You are complete.

NOW, ENJOY!!!I

Best,



